HW # 10 — Chapter 16

PROBLEM 16.7

The support bracket shown is used to transport a cylindrical can from one
elevation to another. Knowing that g =0.25 between the can and the

bracket, determine (a) the magnitude of the upward acceleration a for which
the can will slide on the bracket, (b) the smallest ratio s/d for which the can
will tip before it slides.

&\ PROBLEM 16.12

A 40-kg vase has a 200-mm-diameter base and is being

. [
kg ‘.’ moved using a 100-kg utility cart as shown. The cart
\; |" 600 mm moves freely (¢ = 0) on the ground. Knowing the
\ \ J coefficient of static friction between the vase and the
[r ] cart is Hs =.Q.4, deterxpine the m.aximurp force F that can
D oy be applied if the vase is not to slide or tip.

PROBLEM 16.17

Members ACE and DCB are each 600 mm long and are connected by
a pin at C. The mass center of the 10-kg member 4B is located at G.
Determine (a) the acceleration of 4B immediately after the system
has been released from rest in the position shown, (b) the
corresponding force exerted by roller 4 on member 4B. Neglect the
weight of members 4CE and DCB.

PROBLEM 16.27

The 8-in.-radius brake drum is attached to a larger flywheel that is not
shown. The total mass moment of inertia of the drum and the flywheel is

141b-ft-s? and the coefficient of kinetic friction between the drum and

the brake shoe is 0.35. Knowing that the angular velocity of the flywheel
1s 360 rpm counterclockwise when a force P of magnitude 75 1b is
applied to the pedal C, determine the number of revolutions executed by
the flywheel before it comes to rest.
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